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IF A 495X  PROCESSING UNIT IS  INSTALLED,
beg 0 B LA
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PAGE 15 OF 21
1 10 IS ON IN THE PROCESSING UNIT STATUS
q
o TN L S
F 4285 PROCESSING UNIT IS INSTALLED,
EgcRAgg CJHE FOLLOWING:
Aggﬁgsg gpAnéLATon CARD, IF INSTALLED.
ROScRB.
EicﬁAuggs¥u E?SEESélﬁg‘ UNIT IS INSTALLED,
ROCESSING SNIT o
ERTRY POINT 10)
I, !! IS ON IN THE PROCESSING UNIT STATUS
i splaten (ot bty svouency or vy,
CARD WETH A STGRAL T0FTHE ChARNEL ’
ﬁgﬁg;r 12 ON IN THE PROCESSING UNIT STATUS
igngsﬁoopggig§0g§cunneo IN A DIRECT PROGRAM
- PRESS THE INSTRUCTION ADDRESS REGISTER
T ——
T KEY SX¥XX" ON CONSOLE.
< PRES STORE KEY
B T s
VY 18 PREEAYE® sooress.
Z’éﬁ’és'*’v’ﬁg's%‘ EORETLE:
- PRESg TH Mxxﬁ STORAGE KEY.
13353 13 DREPHAYE usen wen check OCCURRED.
SELS) B 1015 QEoE IOCE, (2pzp)  ppuTany
TTACHMENT/DEVICE .
XCHANGE _ THE___ATTACHMENT CARD OF THIS
ngﬁgnpgglfgfs¥ﬁE'oevrce 1S PROBABLY BAD.

7
68 TO PAGE 16, STEP 138, ENTRY POINT CS.
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INSTALLED,

IF INSTALLED.
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ING:
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9 SOLVING THE INTERMITTENT PROBLEM
PAPER ONLY MAP

PAGE 17 OF 21
44
ENTRY POINT TR)
Bégn'“ IS ON IN THE FROCESSING UNIT STATUS
HE TRANSLATOR NABLED .
IF _YOU WAN 1 DETER INE E"E STORAGE ADDRESS
rnAI IS FAHL NG ND CHANG 1SPLAY IT,
DICATE THIS NOMW.
0 WANT TO CHANGE, DISPLAY OR DETERMINE A
ﬂrgnxgg ADDRESS? '
éqs
XEHANGE THE FDLt WING:
RELOCATION TRANSLATOR CARD.
46
- SEE THE NOTE TO THE RIGHT.
90 NOY RESET 1HE SYSTEM AS YOU FOLLOW THESE
NSTRUCTIO

b: ENGRRER"HNBoRELS Eee} Tero o

3436 36 36 36 26 36 34 24 T4 36 34 36-36 3 2634 36 34 34 34 3 36 34 3634 34 3¢ 36 30 334 34 1434 3%
: THE STORAGE ADDRESS REGISTER IS: :

RECORD 1
6363696 3 353696 36 3 3 3 3 330 3 33 323336 3 2 323 334334 3
2. NSTRUCT ADDRES& REGIST
RREN RUCT{O 6 DRES REGISTER
v REGISTE
\ E EVEL
. REGISTERS 0 - 7.
- PRESS THE JINSTRUCTION STEP MODE KEY.
: FnEs? THE EVRRTVRHC
THE _MICRO PROGRAM WILL LOAD THE HARDWARE LSB
T0 STOREGE
] THIS A PROGRAM CHECK?

N

%3?; JS,A WACHINE
616N 1 8talde DRrd!
ISPLAY STORAGE LOCATION '0008'
8, GONTENT
RD
0

?HES&.
IN THE PROCESSING

‘000 HE ADDRESS OF THE LSB.
gg 0 é ADD gg
T P 18, STEP 150, ENTRY POINT LS.

8
ba%?Sis 3 PROGRA" EH ROCESSING UNIT STATUS
WORD ARE ON FOR A PROGRAﬁ CHECK

- DISPLAY STORAGE LOCATION '0GOC'’
'000C' CONTENT THE ADDR .
RECORD THI ADD%ESS.E DRESS OF THE LB
DIR YOU RECORD THE ADDRESS?

49
&ECORD AND CONTINUE ON THE 'YES' COLUMN.

PO

MAP 0072-17

B%;ﬁslkg aNQ OF T EK PROCESSING UNIT STATUS
B*T(S) i él OF THE PROCESSING UNIT
STATUS NO&D ré ON FOR A MCK.

-

10
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PAGE 18 OF 21
?arnv POINT LS)
- SEE THE NOTE TO THE PIGHT.
Y AND RECORD 11 _LSB_WOR %:

?ISPLA D
STORED SEQUE TIALLY TN STORAGE,
ADDRESS OF THE LsSB)

R
7
|

STARTING AT

1
el
el
m
[9;]
w
)
T
m
-4
P
v
—
58
pe
-
o
=
w
e
m
R/
X
@]
(<}
m
>
m
<

THE INSTRUCTION ADDRESS

[
oO—0 TTTU

OCATION '0006°'.

L
NTOLS "AKR!
T

]
KE
RD
ON_'0006' CONT
8? 8P1K K Y OF THE FAILING

£ XoDRESS RE

3 36 34 3 3 36 3 I 30 36 36 36
¥ OP1 KEY IS:
* R R
3336 de 3K KN

10 DETERHINE THE CONTENTS OF THE SEGMENTATION
REGISTER USED, INSERT PROGRAM C.

REFERENCE RECORD 1 AND RECORD 2 ABOVE.

{OCATION '0006'
CATION '0006° IS THE

o bbetodatabobofotabodel
: THE SEGMENT

33 3 W I I AWM

*x0Zx VO

REGISTER IS: :
303

U NE

¥?8 NEED TO CHANGE BIT(S) AT A STORAGE

52
EAERN TO THE STEP NUMBER THAT SENT YOU

NI>O
) o >l

3 3 36 3 3 3 3 I I V36 36 3 3 3 '

MAP 0072-18

REE
IME

Frevt83 u8EE ey tue PROGRIN Rr ' he 'Y

THIS_PROGRAM WILL PUT TEE AKR INTO
LOCATIOH '0006' AHD STOP.

8000 5B82A
002 0006
0004 8400
0006 000
PROGRAM 2
THIS FROGRAM WILL PUT THE SEGHMENTATION
REGISTER INTO LOCATION '0006' AND SIOP

OOOg 5829
000 2006

0004 400

0006 XXXX
LOAD REGI?TER 0, BIT(S) 0-4 FROM BIT(S) 0-4
(RECOFD 1
LOAD REG*STER 0, BIT(S) 5-7 FROM BIT(S) 5-7
(RECORD 2

20N0V81 PN1635083
EC466795 PEC987889
MAP 0072-18



MAP 0072-19

THEORY

OREGEEXﬁDRESS REGISTER KEY.

19 OF 21

STOR
ST
STORAGE ADDRESS REGISTER FROM

SOLVING THE INTERMITTENT PROBLEM

PAPER ONLY MAP

PAGE

BIT(S) 5 -7 OF AKR FROM 'RECORD 2°'.

NCE THE PROCESSING  UNIT

MS,
'Zzz7° .

ING INTO MAIN STCRAGE'.
CORD 1

§

RETURN TO STEP NUMBER THAT SENT YOU HERE

+ZZZZ' = DATA TO BE STORED INTO MAIN
STORAGE.
- PRESS THE STORE KEY.

- FRESS THE
- KEY TyyYy

YR
- KEY

'3l

4 OF
2 o T
CORRECT.

:
E

B
TO BESREAT R RRTA"S1ORLe THBRRY L BRACRAMS

DDRESS REGISTER KEY.

STORAGE ADDRESS REGISTER FROM

.

EHORRE™

TOP KEY.
RER"GEY!
'X' = BIT(S) 5 -7 OF AKR FROM 'RECORD 2°.

£
X
E
E
Y

l
Y

ESg TH
RESS TH
EY '000
Ess |
PR
'YYYY!
YRECORD 1
RETURN TO STEP NUMBER THAT SENT YOU HERE
15 IS ON IN THE PROCESSING UNIT STATUS
.IS A POWER/THERMAL WARNING.

EaTRY POINT PT)

ON RESET LED

RESET LED IS

" o o
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o>

57

égEN POWER ON RESET LINE TO A BOARD MAY BE
EE JHE LOGIC FOR THE SUSPECT BOARD.

SEE iHE EOGIC FOR TnE SUSFEC; EONEE SUPPLY.
FROBE THE LINE(S) FOR THE CORRECT LEVEL(S).
OCA WER SUPPLY ON SUSPECT MODULE.

égé;%gggg FROCESSING HNIT Hlﬁ. ‘PONER SUPPLY

REFERENCE 'POMER SUPPhY LOGIC(S) YA32X.

LOCATE POR E? ON _POWER SUPPb;

FOR ED_ W GO ON, THEN F WHEN MODULE IS
OWERED ON.

- POWER OFF

- "JAIT 15 SECONDS.

- POWER ON

RID THE POR LED GO ON, THEN OFF AS INDICATED
BOVE?

158

-"POMER OFF

gggogs THE POWER CABLE(S) IN THE REAR OF THE
REFERENCE YA34X.

- PCWER ON

THE POR LED GO ON, THEN OFF?

[ Km(ﬂw—la——«u
= ZO
oun

0
-
[=]
=4
>
o
—
>
~
o
m
z
por]
pe)
=<
v
Q
-
=z
=
>

61
- SEE THE NOTE TO THE RIGHT.
THE POR PULSE IS CORRECT IN THE POWER SUPPLY.
EROBE THg POR_ PIN S05 ON ALL THE I/0 CARD
OSITION(S) ON_THE BOARD.
EOIE THE FOR PIN ON THE 'A' CARD POSITION.
EFERENCE A3XXX OR A5BXXX AS NEEDED.

- POWER OFF

WHEN PROBING THE POR __PULSE, TnE ROBE HI%%
SHOW THE FOLLOWING SEQUENCE WHEN THE SYSTE
POHERED ON.

PROBE MEANING OF INDICATION.

UP....... +5V IS AT THE PROBE.

DOWN. .... POR PULSE.

UP....... POR PULSE NOT.

- POWER ON

OBSERVE THE INDICATOR(S) ON THE PROBE.
?NSIHE POR PULSE CORRECT ON ALL THE S05 I/0

1 1 NDVAD~UN = T

MAP 0072-20

HOW TO USE THE GENERAL LOGIC PROBE:

THE BLACK (MINUS) RE CAN BE CONNECTED TO AN

GROUN% PIN BN THE EéAED. PIN(S) oog. Jos, PO

OR Uo8.

TH RED (PLUS RE CAN BE CONNECTED TO_ANY
Ggi PIN ON ThE éOAgs. PIN(S? D03, Jo3, P03 OR
SET THE SWITCH TO:

TECHNOLOGY LTI

LATCH ONB

GATE REFERENCE ROUND

REFERENCE THE R AGNOSTIC SERVICE GUIDE
-11.00.00-, "GENER LOGIC PROBE SUNM RY' EOR
EugéEUCTION(S) OH HOW TO USE THE GENERAL LOGIC
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